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The master said; this one can and this one cannot

Overview
The & 13 previously cited a X092 that in a case of 713° 1R i1 7127 71, all agree that
he is liable. Mo0In explains what is meant by 912° 1°K 77.
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It is the view of the >''2 that this 9127 12°K applies even to a very strong person -
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However, currently he is carrying the beam in such a fashion that if not for the

other party, he would not be able to carry it himself -
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For instance he is carrying it only with his finger, or he is grasping it in such a

way that he cannot carry it by himself, so even though if he would carry it properly he
would be able to carry it by himself, nevertheless since now he cannot carry it by himself, he is
considered 9127 11°K -

$ANWIY 9195 199X NN NNIWAT 1193 1099 135 11t

For what do we care about his strength, since now, however, he cannot carry it,
so he is considered 9127 WX (and the 912> will be 2°n).

Summary
2107 1K is determined if he can carry it in the way that he is actually carrying it.

Thinking it over

Can one argue with N1901n and say that only one who is totally incapable of carrying
it is considered 7127 11°X, but not one who is strong enough to carry it (even though
practically now he cannot carry it)??

! For instance it is a large log and he is lifting it at one end from the top which he cannot properly grasp.
2 See 1910 anm on the 1 7"72 XA
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